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M.M.70
General Instruction:

      (i) All Questions are compulsory

      (ii) Programming Language: C++

1. Q1 a) Write the major differences between Object Oriented Programming and Procedural Programming          
        




   [2]                                                                                                                                                           
  b) Name the header file to which the following belong:


   [1]
       (i) gotoxy()


(ii) srand()

  c) Rewrite the given snippet after removing the syntactical error(s), if any. Underline each correction        





   [2]
1. structure swimmingclub

{


int mem number;


char mamname[20]


char memtype[]=”LIG”;

};

void main()


{



swimmingclub per1,per2;



cin<<”Member Number”;



cin>>memnumber.per1;



cout<<”\n Member name”;



cin>>per1.membername;



per1.memtype=”HIG”;



per2=per1;



cin<<”\n Member number ”<<per2.memnumber;



cin<<”\n Member name “<<per2.memname;



cin<<”\n Member number “<<per2.memtype;


}
 d) What will be the output of the given snippet?




   [2]     

#include<iostream.h>

void main()

{

int Numbers[] = {112,114,118,120};

int *ptr = Numbers;

for (int C = 0; C<3; C++)

{

cout<< *(ptr+1)-1 << “@”;

ptr++;

}

cout<<endl;

for(C = 0; C<4; C++)

{

(*ptr)=(*ptr * 2);

--ptr;

}

for(C = 0; C<4; C++)

cout<< Numbers [C]<< “#”;

cout<<endl;

}

}
e) What will be the output of the following program:



 [3]
#include<iostream.h>

#include<ctype.h>

void Modify( char *, int );

void main( )

{


char * Disease= “ SwiNe FLuE”;


Modify( Disease, 2 );

cout<<Dsease;

}

void Modify ( char * D, int N)

{


for( int i=0; D[i]!=’\0’, ++i)


if(i % 2= = 0)

 D[i]=toupper(D[i+N]);


else if ( isupper(D[i]))



D[i]= tolower(D[i]+N);

Else if (islower(D[i]))


D[i]= D[i] + N;


}

f) Study the following program and select the possible output from it : [2]
#include<stdlib.h>

#include<iostream.h>

void main()

{

  randomize();

  char A[]=”WELCOME”;

  int ToGo;

  for(int I=0;I<strlen(A);I++)

  {

     ToGo=random (sizeof (ToGo)*2) +1;

     cout<<A[ToGo]<<”:”;  

  }

}

a)
W: E: L: C: O: M: E:

b)
E: C: E: E: C: C: E:

c)
E: C: E: E: C: C: O:

d)
C: C: C: E: E: C: C:
Q2 a) List the characteristics of constructor and destructors?

 [2]


b) Answer the questions (i) and (ii) after going through the following program:












  [2]
class Exhibition

{


int m_no;


char Model[20];

public:


Exhibition( )


// Function 1


{



m_no=20;



strcpy(Model, “Bio Gas”);


}


Exhibition( int  a, char * c);
// Function 2


Exhibition (Exhibition & E);
// Function 3


~Exhibition( );


// Function 4

};

i) When will Function 3 going to be executed:

a) When the object goes out of scope.

b) When an object is created by using another instance of previously defined object.

c) By the statement: Exhibition E(“ Rocket Balloon”, 31);

d) None of the above.

ii) Write the complete definition of function 2.

c) Define a class Shop in C++ with the description given below :

4


private members



name

array of 40 characters 



address 
array of 40 characters



type of item
array of 3X20 characters



availqty
array of 3 integers



totalqty
array of 3 integers

public members


init()

function to ask and store the values of address ,type 

of items , availqty & totalqty.

        purchase()
function to ask the qty purchased and type of item from the user and updates the totalqty and avialqty accordingly .


for example: if the type of items available in the shop are : “Cosmetic” , ”Food Products” , ”Medicines” . And the shop keeper purchases the “Cosmetic” item then updates the availqty and totalqty of the “Cosmetic” item.

      display()
function to display the details of the item in the following format :




Name :   <SHOP NAME >





Address :< ADDRESS >
Items :< Type of Item 1>
      <Type of Item 2>
     <Type Of item 3>

Balance Stock :< avialqty>

<availqty>

<avialqty>

    d) Answer the questions (i) to (IV) based on the following code:
   [4]                           

class CUSTOMER

{

int cust_no;

char cust_name[20];

protected:

void Register( );

public:

CUSTOMER( );

void status( );

};

class SALESMAN

{

int salesman_no;

char salesman_name[20];

protected:

float salary;

public:

SALESMAN( );

void enter( );

void show( );

};

class SHOP: public CUSTOMER, protected SALESMAN

{

char voucher_no[10];

char sales_date[8];

public:

SHOP( );

void sales_entry( );

void sales_detail( );

};

(i) Write the names of data members which are accessible from objects belonging to class CUSTOMER.

(ii) Write the names of all the member functions which are accessible from objects belonging to class SALESMAN.

(iii) Write the names of all the members which are accessible from member functions of class SHOP.

(iv) How many bytes will be required by an object belonging to class SHOP?

Q3 a) WAP in C++ to insert an element in a one-dimensional sorted array in such a way that after insertion the array remain sorted.


   [3]
b) If    two  –  dimensional   array   C[5……9, -4…..10]  is stored  using column
 major representation, then calculate the address of C[8,6}, if the base address is 100 and each element requires 4 bytes of memory.
      [3]                                                                                                                      
c) Give necessary declarations for a queue containing name and float type number; also write a user defined function in C++ to insert and delete a node from the queue. You should use linked representation of queue.

[4]
d) Write a function in C++ which accepts an integer array and size as arguments and assign values into a 2D array of integers in the following format: 












[2]                                     

If the array is 1, 2, 3, 4, 5, 6

The resultant 2D array is given below

0      1      1      1      1      0

2      0      2      2      0      2

3      3      0      0      3      3

4      4      0      0      4      4

5      0      5      5      0      5

0      6      6      6      6      0

.

e) Convert the expression A+(((B-C)*(D-E)+F/G)*(H-J) to postfix expression . Show the contents of the stack at every step.    




   [2]
Q4 a) Observe the program segment given below carefully and fill in the blanks marked as statment1 and statement2 using write() and remove() functions for performing the required task.






[1]

#include<fstream.h>

class Emp

{


int Eno;


char name[20];


public :


//function which will delete the data of a specific employee


void deleteRec(int Eid);

};

void Emp::deleteRec(int Eid)

{


fstream file;


file.open(“Emp.dat”,ios::in|ios::out|ios::binary);


ofstream ofile(“temp.dat”);


while(file)


{



file.read((char *)this,sizeof(eobj));



if(this->Eno !=Eid)



_________________//statement1


}


________________//statement 2


rename(“temp.dat”,”emp.dat”);

} 
b) Write a function to reverse only those lines ends with vowel character from a text file poem.txt. 






    



[2]
 c) Write a function in C++ to update the SUPPLIER NAME for a given SNO from a binary file “SUPP.DAT”, assuming the binary file is contained the objects of the following class:










[3]   










class SUPPLIER


{

int SNO; 
char SUPP_NAME [20];



public: 



int SUPPNO ( ) { return SNO; }



void Enter ( ) { cin >> SNO; gets (SUPP_NAME); }



void Display ( ) { cout << SNO <<SUPP_NAME ; }


      


};


5. a) Explain Candidate key and Relation?





  [2]  
b) Consider the following tables BOOKS and ISSUED. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (viii)   [6]
BOOKS










	Book_Id
	Book_Name
	Author_Name
	Publishers
	Price
	Type
	Quantity

	C01
	Fast Cook
	Lata Kapoor
	EPB
	355
	Cookery
	5

	F01
	The Tears
	William Hopkins
	First
	650
	Fiction
	20

	T01
	My C++
	Brain & Brooke
	FPB
	350
	Text
	10

	T02
	C++ Brain
	A.W.Rossaine
	TDH
	350
	Text
	15

	F02
	Thuderbolts
	Anna Roberts
	First
	750
	Fiction
	50


ISSUED

	Book_Id
	Quantity_Issued

	T01
	4

	C01
	5

	F01
	2

	C01
	6

	T02
	3


i) To list the names from books of Text type.

ii) To display the names and price from books in ascending order of their price.

iii) To increase the price of all books of EPB publishers by 50.

vi) To display the Book Name, Quantity_Issued and Price for all books of EPB publishers.

v) Select max (price) from books;

vi) Select count (DISTINCT Publishers) from books where Price >=400;

vii) Select Book_Name, Author_Name from books where Publishers = ‘First’;

viii) Select min(Price) from books where type = ‘Text’;
 Q 6.a) State and verify Distributive law.





   [2]                                              
 b) Convert the following Boolean expression into its equivalent Canonical product of sum form (POS): F (a, b, c) = ∑ (1, 3, 5, 6)


  [2]                 
 c) Write the equivalent Logic Circuit for the following Boolean Expression                   AB(C’D + B’C) + BC







     
  [1]
 d) Reduce the following Boolean Expression using K-Map


  [3]
      F(A,B,C,D) = ∑ ( 1,3,4,5,6,7,9,11,12,13,14,15)
7. (a) Write one advantage and disadvantage of Bus Topology.

 [1]
(b) Expand the following terms with respect to Networking.


 [1]
i). WLL

ii) PHP
(c) Differentiate between Freeware and shareware?




[1]
(d)What are Cookies?

           





[1]
(e)Differentiate between Hackers and Crackers?




[1]
(f)What is FTP?










[1]
d) ) “Kanganalay Cosmetics” is planning to start their offices in four major cities in Uttar Pradesh to provide cosmetic product support in its retail fields. The company has planned to set up their offices in Lucknow at three different locations and have named them as “Head office”, “Sales office”, & “Prod office”. The company’s regional offices are located at Varanasi, Kanpur & Saharanpur. A rough layout of the same is as follows:
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An approximate distance between these offices as per network survey team is as follows:

	Place from
	Place to
	Distance 

	Head office
	Sales office
	15 KM

	Head office
	Prod office
	8 KM

	Head office
	Varanasi Office
	295 KM

	Head office
	Kanpur Office
	195 KM

	Head office
	Saharanpur office
	408 KM



Number of computers:

	Head office
	156

	Sales office
	25

	Prod office
	56

	Varanasi Office
	85

	Kanpur Office
	107

	Saharanpur office
	105


i)  Suggest the placement of the repeater with justification.
[1]

ii) Name the branch where the server should be installed. Justify your answer. 










[1]


iii) Suggest the device to be procured by the company for connecting all the computers within each of its offices out of the following devices       












[1]


· Modem

· Telephone

· Switch/Hub











    iv) The company is planning to link its head office situated in Lucknow with the office at Saharanpur. Suggest an economic way to connect it; the company is ready to compromise on the speed of connectivity. Justify your answer.
          








[1]
ૐ ૐ ૐ ૐ ૐ ૐ 
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